Tuesday, August 22, 2017 5:18 PM

Po{gmomiq[s Ma’ll Fo(gn—om[ﬂ[s
Obx /A
2x5 >:7»2><+)) 3%x-2 3X F)_;x— Z/
PO[ Pﬁl 9 L POL Po( PaL
[2x-2 X=Vk  02x+] , |2x -
Pl bk P Pel . Vet Pol
D L gnowuft/ 1‘1/\ >< 1‘5 A @(f)ht%/om ()7L

M n-{ n-{ .
O(.,,X o, X A, X .. tAX ao/
% 2
=35, A, X +A, X+ q, X +a,
nlogo oy C(I/Qb are T‘“( Mumb@“}/
A, t0 an/( n oS uon ngal[\/c



Vém( VLMMLLQ 2 Q Q OZ \/\ \/B
T, (23%6 ﬁ.a

\r 2(
i= 1 ot ouu( wumber !
\5»[@ = M/c( Mmlaer"

oo~
LxF-% 3y +3

De feé O'p 7= Po(éjnom[a( [5 ‘M.@ l/\/jlw‘{ é)fow/

PO(&J"‘- V{ﬁjr
oxt-xv2 |k
o2l D 5
—qAX=bx+S A
2+ % 1
— T~

(4 2% 5 #5) #3502 8x =€)
~A4CH (3% +;2><+2>< S x -8x +>-6

|4 + - [2% 3‘\ —
\ ﬁ_\ A\

/15 ,3 )] 2 .

/ Vel 3 @] 2 .-



m
("q 7<3+9‘)<z’ 5%—(’}) — ({3 )(3—(-2)<2.-gx "6)

= — 5_(' z"gx-f} ~(3?(3’Z7<27‘g)(f6

=225 K3 1 g

(‘gx >[5>< Z~3 9 U F-Y0 x =FtO X
—7

/ﬁ B
(QX\‘S) (X2+ x %g): Zx-xz—r Cx-§x t2x5 +3-x"
~ < 5<F>< +2-5
= 2K+ 4ok 43X 2 X H5
= ZXS'H l X’L~(—ZZ><+[§’J

(x<t) (5x-3)= (5K +20x-4% ~ (2 =)/§ xQ«//x-/ﬁ

o
(24- '@9 ty" ¢y ~2g - 1= (29) -1

GLX"‘8>(2X 8) L(’c(2< %K{{x-f\géx 64 = (FqX'é‘f

Z (2X)-3"
\f(& +b) (a-b) = a- b\i)




1 2
(XH()) = (X*IUX X+4p) = X+ [OX* (DX +/0O
=} 20x 100

[(a«“b)l: 0 +2abtb” \ 2><27£ (%792

4x*

(zw@) = (200" (2 (¥) + ¥°
= [t + 16 x+c |

)(a- b) = o’ = Dab o

@ -b) Ca-’o) - 0 ra (-b) + (-b) o+ (-5 (-b)
= 0 - ab ~ba +h = a"ab-ab “b"

= aZ’Zab—kbl
“ \o
(56 é>_,( ﬂ> ~2(54)-6+ 6= 5"y - €0y +36
- GO%+5é
}Z'(S‘g)é
r(03'6
~ €O
375
(7%~ ) = i/7>< -2 2+

</C/X?'«‘“f&< + <



2 /\//—2\
(ae 7 =(0t) (a) = (2422 ¢6°) (a:5)

@+ db+250h +Zabtab’ +b
_ N

:ES* 20" b +3ab + bq
(- ’Of :[Of, 3ot dah - kﬁ

3 7
- )>$= (2x)-3-(2x) +B\Zx'(l)2’ °
o = SR 34t G W’/Z%%W

~
® (L2

/

SQCWL“OM =) FQO‘LO Vinﬁ

@x+27 7= (26330 = TC(2x+3)
Xz(fo + 5 (x+3) = (x83) X ¢ F)
N— J ( &i_bf:(wb)(an‘b)

f ¢
X' (x-2) = 2[(x-2) = (x-1) (< -81)

= (x-2) (@E q)



= (x-2) ((<)-G")
—,(:-z> ((Qq )Cx2+<7>

K- 3%

(<) (D) (<D |




